-l<a<249d, /(a+1)2+ /(a-2)>+a-3

@a @ 3a-4 ®0
@ a-6 ® 3a+1

“1<a<29Xa+1>0,a-2<00°E2=2
(=X)=a+1-(a-2)+a-3=a




2.

a>0,b<09 W, Va®+ /(-b)? - Vda? — Vb2 & 74t

@D -a-b @ —a-2b

@—a ® —a+2b
B

®a

a>00922 24> 0,

b<0°B2 —p>0,b<0

(V&P + /B~ /P - VPP
=a+ (-b) - (2a) - (-b)
=a-b-2a+b=-a




3.

VEX X T2 xa 7t B4t 517 §1%k A AL A% o & T

® 2 @ 3 ®)s @ 7 ® 42

V294a = V2x3x 72 xa°] 57 57 Y E Z599]
57} AAAFS7} HoJof 5HE R g = 2x3xk2 o] Elojof g},
SRS AL gk =1D o]lBE2 g =2x3x12 =6
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HAZtHo|n g2 Atcha] & o] ofsiH 2 34/5 + 34/5 =

(3V5+6V5) x3V5 =




D 1-3 @ 5-3v3 @0
@ -5- V3 ® 5- V3

B

V3-2<0,2-V3>00]2&
1V3-2-12- V3=~ (V3-2) - (2- V3)

-V3+2-2+13
0




A= x of st

f(x) = (Vxolste] A F 7P 2 47) 2l & o, £(90) - £(40)
o #27 (& x = Adoltt)

@ 1 @ 2 @3 @ 4 ® 5

B

81 <90 < 100 °]EZ 9 < 90 < 10

- f(90) =9
36 < 40 < 49 ©]E2 6 < V40 < 49
- f(40) = 6

- f(90) - f(40) =9 -6 =3




